5.4 Practice

Example Practice

1a. Find the exact value of cos(u+v) given that 1b. Find the exact value of cos(u—v) given that

smu=1—53 and cosy=—%. Both u and v are in Q2. sinu =55 and cosv =—4%. Both
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2a. Find the exact value of tan(u—v) give that 2b. Find the exact value of
sinu =—-% and cosv=—3. Both u and v are in Q3 tan(u+v) give that sinu =—-= and cosv =—3. Both u
e WS an and v are in Q3.
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3a. Find the exact value of the expression: 3b. Find the exact value of the expression:
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4a. Find the exact value of cos(LX) given that
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4b. Find the exact value of sin(1Z) given that
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5a. Find the exact value of sin(13F) [jl— \Y)L'
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5b. Find the exact value of cos(3%
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6a. Find the exact value of tan(— 7") 6b. Find the exact value of sin(— 132
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